3.3/3.4 Exponential Growth and Decay

Interest Compounded Continuously

t
A=Peh

A = end amount
P = Principle / initial deposit

K = appretiation rate
t =time

Ex If $1000 is invested at a rate of 6% compounded
continuously, what is the end amount after 15 years?
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The Present Value of an investment is the interest
formula solved for P.
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Ex What is the present value of $1500 payable after 10
years, if money is invested at 4% with interest
compounded continuously?
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Doubling Rate: how long does it take for an
investment P to double?
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Ex. At a rate of 3.8%, how long with it take for an account
to double?
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The Doubling Rate can be estimated by the Rule of 70
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Use log rules to solve for missing variables if necessary.

Ex. What rate is required for an initial investment of
$1000 to become $3000 in 10 years?
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